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WM3BELLTAJ O PALLY CYOA
3A NEPUOA 04 01/01/2015 A0 31/12/2015

MpoceyHo
Hezi&’:ri?/ Ha MpumrbeHo PeweHo HepeweHo Ha kpajy l;ppe;’;e;: KBANUTET
cynujn
2 -g onye/:lnjerzy
<] 8
8 2 llenvmmytol g <
%" E § .;D ° < MotepheHo [MpenHayeHo| YkuHyTo npewwrf;eﬂo g %
k=3 2
HEEE g 2|2 s g £ g 3 R g $lZ
o | 3 E s 51515 8 X 2 E I 5 2|5
El S (5518 2 |£(8| ¢ |EB|E[E|:| % [3 ¢ z g 18] £ [£|£ (8¢ 8 (2
gzl £ |28 3 Slel: 3| ¢ 3] £ s 5 3] £ (2|2 (83 -
§_ S |x g. =] x g 'g 5 % H * % E 2 x g. B =] x ; 2 E
F ° N - z ] 2 z S lopoi| % |6poi| % [6po] % |epoi| % | 3 [ 2 | %
o 5 ° o 2 2 ° < H H
2 3 E 2 @ s 2 5
H = H
2
1. Wn 4 33 [0 0 45164514 102.64 4549 |14096( 0 |4096 0 0 2 93.09 453 0 4 0 [113.25 0 | 152 |146/96.05| 1 |0.66| 4 [2.63| 1 |0.66 | 90.7 |90.04/99.88|
2. Wis 4 15 [0 450 | 450 10.23 465 [445| 0 445 0 0 1 10.11 20 0 0 0 5 0 9 8 |88.89| 1 |11.11] 0 [0.00] 0 [0.00]98.89] 95.7 |99.78
3. Wik 1 380 | 0 105 (1062|1062 96.55 1442 [1012] 0 |[1012 0 3 6 92 430 1 167 0 430 | 1 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00]|95.29|70.18 100
4. WVka 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| O [0.00|0 |0.00] O |0.00] O 0 0
5. Wkat 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| O [0.00|0 [0.00| O |0.00] O 0 0
6.| Wka2 0 0 [o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00|0 |0.00] O |0.00] O 0 0
7. Whk 1 22 |0 0 300 | 300 27.27 322 (283 | 0 283 0 0 0 25.73 39 0 0 0 39 |0 60 [59(98.33] 0 [0.00[ 1 [1.67| 0 |0.00]|94.33|87.89/99.65
8.[ Wown 4 [367 )0 21 1051]1050 23.89 1418 | 588 | 0 588 0 0 11 13.36 830 |0 51 0 [2075| 0 8 7 |87.50] 0 |0.00( 1 [12.50| 0 |0.00|55.95|41.47(99.83
9. Won 0 71 |0 0 319 | 319 0 390 (274] 0 274 0 0 1 0 116 |0 0 0 0 0| 29 [24 (8276 2 |6.90( 3 [10.34 0 |0.00|85.89|70.26(98.18
10.| Vinn 0 18 [0 0 108 | 107 0 126 | 60 0 60 0 0 0 0 66 0 0 0 0 0 6 4 |66.67| 1 [16.67| 1 [16.67] 0 |0.00 [55.56(47.62/96.67
11.| VinsW 4 38 |0 0 1455)1455 33.07 1493 | 955 | 491 | 1446 0 0 0 32.86 47 0 0 0 [11.75{ 0 0 0 /000| 0 |0.00[0 [0.00] 0 |0.00]|99.38|96.85| 100
12.| VineVie | 4 34 |0 0 945 | 945 21.48 979 | 659 | 312 | 971 0 0 0 22.07 8 0 0 0 2 0 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00][102.7599.18] 100
13.[WneMek| 4 [231 )0 1 2328 (2328 52.91 2559 |1681| 796 | 2477 0 0 2 56.3 82 0 1 0 [205(0 0 0 [0.00( 0 [000]|0 |0.00f O [0.00[106.4[96.8 (100
14.[ KN 2 51 [0 3 1345(1106 61.14 1396 | 0 [1335(1335 0 0 38 60.68 61 0 2 0 30.5| 0 0 0 [0.00[ 0 |0.00]|0J0.00[ 0 [0.00[99.26(95.63[ 100
15.[ KMMp 2 52 |0 0 2049|2049 93.14 2101 0 |[2034 2034 0 0 0 92.45 67 0 0 0 335| 0 0 0 [0.00[ 0 |0.00]| 0 J0.00[ 0 [0.00[99.27[96.81 100
16.JMOM 15| 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[0 [0.00f O [0.00f] O 0 0
17 |'I|AC::\/I 0 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [000( O |0.00fO (000f O (0.00f O 0 0
18.[ MMpp 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[O0 [0.00f O [0.00] O 0 0
19.[ Mpp1 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[O0 [0.00f O [0.00f] O 0 0
20 P4wu 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[0 [0.00f O [0.00] O 0 0
21| P4k 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [000| O |0.00[O0 [0.00f O [0.00] O 0 0
22| P4n 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [000| O |0.00[0 [0.00f O [0.00f] O 0 0
23| P4p 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[0 [0.00f O [0.00f] O 0 0
24| P4s 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[0 [0.00f O [0.00f] O 0 0
25| Cnk 2 51 [0 3 364 | 363 16.55 415 | 342 6 348 0 0 4 15.82 67 0 23 0 335| 0 0 0 [0.00[ 0 |0.00]| 0 J0.00[ 0 [0.00]956 [83.86( 100
126 n 27 [9080]| 0| 1745 [120771052 40.66 211576887 | 3740 |10627| 0 0| 2372 35.78 10530 | 0| 1892 0 390 | 0 |4317[3384]78.39| 115 | 2.66 [605[14.01| 213 | 4.93 |87.99|50.23/93.22|
27. N1 8 |2552| 0 310 |2875(2611 32.67 5427 [1983| 691 | 2674 0 0 504 30.39 2753 [0 329 0 [344.13] 0 | 930 |792(85.16| 24 |2.58 |92(9.89| 22 |2.37|93.01]|49.27|95.66)|
8. N2 5 647 | 0 25 2264|2115 41.16 2911 [1804| 487 | 2291 0 0 31 41.65 620 0 28 0 124 | 0 | 152 |115|7566| 5 |3.29|26[17.11] 6 |3.95[101.19) 78.7 |98.65|
29 4 4 |7040( 0| 1557 |[4844|4784 110.09 11884 [4952| 654 | 5606 0 0 957 127.41 6278 (0] 1867 0 [1569.5 0 | 69 |52 [7536| 2 |2.90|14[20.29 1 |1.45[115.73/47.17|99.71
80| Ve 4 [35636) 0| 33019 |3529 (3440 80.2 39165 [12491( 1694 (14185 0 0 [ 13402 322.39 24980 [0 [ 22638 0 |6245| 0 | 327 |316(96.64| 2 |0.61] 9 |2.75] 0 |[0.00 401.96{36.22|99.92)
81, Weil 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| O [0.00f0 |0.00f O |0.00] O 0 0
182, Wne 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00|0 |0.00] O |0.00] O 0 0
83| Mnel 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00f0 [0.00] O |0.00] O 0 0
B4 nn 0 32 |0 22 1066 | 1064 0 1098 | 27 | 1024 | 1051 0 0 1 0 47 0 21 0 0 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00]|9859]|95.72| 100
85| O 3 [2864)0 34 6676 [ 5498 202.3 9540 [4512| 885 | 5397 0 0 46 163.55 4143 [0 17 0 [1381| 0| 31 | 22|70.97| 0 [0.00]|9 [29.03 0 |[0.00[80.84(56.57|99.83]
86 P1 2 [198])0 36 206 | 145 9.36 404 | 135 | 112 | 247 0 0 53 11.23 157 |0 20 0 |[785|0| 36 | 13|36.11| 2 [556|19[52.78 2 |5.56[119.9(61.14|91.5
87| P2 2 [175]0 0 848 | 210 38.55 1023 | 231 | 430 | 661 0 0 0 30.05 362 |0 1 0 181 | O 7 4 |57.14| 1 [14.29] 2 |p8.57] 0 |0.00 [77.95(64.61]99.55]
8. P3 2 [154)0 2 681 | 667 30.95 835 | 664 | 101 | 765 0 0 3 34.77 70 0 4 0 35 | 0 3 1 33.33| 1 [33.33] 1 [33.33 0 |[0.00 [112.33(91.62|99.74]
89| P4 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00|0 |0.00] O |0.00] O 0 0
40 P5 0 0 [0 0 2 2 0 2 1 1 2 0 0 0 0 0 0 0 0 0 0 0 0 /000| 0 |0.00[0 [0.00[ 0 |[0.00] 100 | 100 | 100
41| OC 1 0 [0 0 21 14 1.91 21 10 | 11 21 0 0 0 1.91 0 0 0 0 0 0 1 1 [100.000 0 |0.00| 0 [0.00 0 |0.00| 100 | 100 | 100
42, P-i6 0 0 [0 0 1 1 0 1 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 [0.00[ 0 |0.00]|0 J0.00f 0O [0.00[ 100 [ 100 [ 100
143. K 16 [2315)0 567 |2482(2138 14.1 4797 | 2423 | 245 | 2668 0 0 764 15.16 2129 [0 528 0 [133.06] 0 | 441 |341|77.32| 21 |4.76 |72[16.33 6 |1.36 [107.49/55.62|96.51
44.| Mi-ys 0 0 |0 0 2 2 0 2 1 0 1 0 0 0 0 1 0 0 0 0 0 1 1 [100.000 0 [0.00) 0 |0.00/ O |0.00] 50 50 | 100
45| Kn 0 2 |2 2 0 0 0 2 2 0 2 0 2 2 0 0 0 0 0 0 0 0 0 [000| O |0.00[0 [0.00f O [0.00f] O 100 [ 100
46.| KP 0 21 [0 1 45 | 42 0 66 0 46 46 0 0 2 0 20 0 1 0 0 0 0 0 [0.00[ 0 |0.00]| 0 J0.00[ 0 [0.00102.22[ 69.7 [ 100
47. KPW 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[0 [0.00f O [0.00] O 0 0
48.] KB 3 384 | 0 0 2413|2196 73.12 2797 [2023| 301 | 2324 0 0 7 70.42 473 0 3 0 [157.67] 0 | 583 |495/84.91| 12 |2.06 |74 [12.69) 2 |0.34(96.31|83.09| 96.3
[49.] KN 3 2 |0 0 11 11 0.33 13 0 11 11 0 0 0 0.33 2 0 0 0 0670 0 0 [0.00[ 0 |0.00]| 0 J0.00[ 0 [0.00[ 100 [84.62[ 100
50.] KBM 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[O0 [0.00f O [0.00] O 0 0
51.[ K1 0 0 |0 0 41 41 0 41 34 0 34 0 0 0 0 7 0 0 0 0 0 0 0 [0.00[ 0 |0.00]| 0 J0.00[ 0 [0.00[8293[82.93[ 100
52| KYO 3 21 [0 0 154 | 153 4.67 175 | 94 57 | 151 0 0 0 4.58 24 0 0 0 8 0] 21 |20(9524| 0 |0.00| 1 [4.76] 0 |0.0098.05|86.29|99.34]
53.| Ku-Mo1 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [0.00| O |0.00[0 [0.00f O [0.00f] O 0 0
54.| Ku-Mo2 | 0 0 |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [000( O |0.00[0 [0.00f O [0.00[ O 0 0
55.| K-Mot 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| O [0.00|0 |0.00] O |0.00] O 0 0
56| K-Mo2 | 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00|0 |0.00| O |0.00] O 0 0
57| TOMN 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00|0 |0.00] O |0.00] O 0 0
8. Mou 0 0 [0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 |0.00| 0 [0.00|0 |0.00] O |0.00] O 0 0
59.] Nom 2 [121)0 17 1223|1222 55.59 1344 | 0 |1220] 1220 0 0 2 55.45 124 |0 17 0 62 | 0 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00]|99.75|90.77| 100
60.[MOM 1| 1 0 [0 0 26 | 26 2.36 26 0 13 13 0 0 0 1.18 13 0 0 0 13 [0 0 0 |0.00| O [(0.00| 0 [0.00f O |0.00| 50 50 00
61.[MOMW2| 1 0 [0 0 35 | 35 3.18 35 0 19 19 0 0 0 1.73 16 0 0 0 16 [0 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00]|54.29|54.29| 100
62.[MOM Ur| 1 3 [0 1 417 | 417 37.91 420 0 | 373|373 0 0 0 33.91 47 0 1 0 47 | 0 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00]|89.45|88.81| 100
63.[MOM Vx| 1 10 [0 0 88 | 88 8 98 0 93 93 0 0 0 8.45 5 0 0 0 5 0 0 0 /0.00| 0 |0.00[0 [0.00] 0 |0.00[105.68 94.9 | 100
64.[YKYNHO| 71 [62620| 2 | 37471 [58319/53490| 74.67 120939¢48670|171 0 5| 18211 84.32 55087 [ 1| 27615 0 [775.87)0.01| 7183 |5805| 80.82| 190 | 2.65 |934[13.00 253 | 3.52 [112.92]54.45|98.29




